O 758k NE|AE =2 S
TE Y= T
=4 sHgs HE 71| T tEdda | HE 71 el X7t dat
1 +A0[25 % (pH) - - 9.0 - - 6.8
2 | M=t At SEF (BOD) - mg/X 11,958.3 30 O35} mg/% 3.1
3 % J7|EtA (TOCQ) - mg/X 13,884.6 55 0|3} mg/% 15.6
4 BEo2F (S9) - mg/! 10,093.3 30 O[3} mg/2 2.9
5 = AL (T-N) - mg/2 4,539.090 60 0|3} mg/2 17.301
6 % 21 (T-P) - mg/X 442300 8 0|5} mg/% 0.106
7 EN P - /L 169,633 3000 O[Sk ZH/L 31

O 2k MEAE X2 HE

T2 Y e
=H sdg= HE 71E| T 7tEEEAN | HE olE] e X2tEd da
1 F=20|25% (pH) - - 7.8 - - 6.9
2 | A=t M4 Q48 (BOD) - mg/! 4,502.7 30 0|8t mg/2 1.8
3 & {7|EtA (TOCQ) - mg/X 4,969.9 30 0|3t mg/¢ 10.9
4 28=E (59 - mg/4 5,700.0 30 0|8t mg/2 1.5
5 = A (T-N) - mg/2 2,084.138 60 0|3} mg/2 10.038
6 = 0l (T-P) - mg/2 235.698 8 0|5} mg/2 0.137
7 SUHE = - =/m@ 56,250 3000 O[3t ==/me 42

o
TE Y gET
= ] HE 718 T i=sddn |98 718 ol CHl =78 A1}
1 +A0|25% (pH) - 73 5.8~8.0 - 7.0
2 | ME3et LAQ 2 (BOD) - mg/% 40.9 30 O3} mg/X 27
3 SHabA A A 2 FLEHCOD) - mg/{ 192.8 200 O|St | mg/t 112.7
4 BEoEF (S9) - mg/! 167.5 30 0|3t mg/4 6.4
5 = EHA (T-N) - mg/{ 236.200 100 O[3} | mg/t 84.300
6 Z 2 (T-P) - mg/t 9.750 4 0|5} mg/2 0.190
7 ST - 2=/m@ 68 100 O[S} | ==/me 0
O &718 s M2A|E s=X2| g
TE Y gEr
= ] HE 718 T isdEdn |88 718 ol CHl =78 A0}
1 F20|2F% (pH) - . 7.9 5.8~8.0 - 7.5
2 | MEEH LA e (BOD) - mg/% 20.2 30 O3} mg/X 7.2
3 tetA it 2 L 2HCOD) - mg/% 283.7 200 O[3t | mg/t 65.5
4 H23=E (S9) - mg/% 112.5 30 O3} mg/X 7.8
5 = 2 (T-N) - 2=/ml 162.800 100 O[3t | ==/me 19.500
6 = 9l (T-P) - mg/! 2.737 4 0|3} mg/% 0.106
7 SOy AT - mg/% 160 100 O[Sk |  mg/t 0




